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Note: (i) This Question Booklet contains 40 Multiple Choice Questions followed by

10 Short Answer Questions.

(if) Attempt as many MCQs as you can. Each MCQ carries 3 (Three) mark-.
1 (One) mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question. 1{ more than one alternative

answers of MCQs seem Lo be approximate to the correct answer, chaose the

closest one,

(1if) Answer only 5 Short Answer Questions. Fach question carries 16 (Sixteen)
marks and should be answered in 150-200 words. Blank 5 (Five) pages
attached with this booklet shall only be used for the purpose. Answer each

question on separate page, after writing Question No.
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Which lime is referred to as quick lime ?

(1y CaO (2) Ca(OH), (3) CaMg(CO4),  (4) CaCO,
Qoze test is done to detect :

(1} Bacterial disease (2) Fungal discase

(3) Viral disease (4} All of these

For test of goodness of fit, which statistical tesi is applied ?

(1) 'z test (2) 'F test (3) 'Z' test (4) 't test
Farm management is an :

(1} Intra-farm science {2) Inter-farm science

(3) Inter-regional farm science (4) International farm science

The term "Ever Green Revolution” was given by :

{1}y R & Paroda (2) V. L. Chopra

(3} Norman Borloug (4) M.S5. Swaminathan
“Operation flood” is related to

{1; Rice (2) Fish {3y Milk (4} Chiseeds

During prophase-l of meiosis crossing over occurs at

(1) Zygotene {(2) Pachytene (3) Diplotene (4) Diakmesis
Larva of buttery s known as :

(1 Grub (2) Nymph (3} Catterpiiler (4} Maggot

Marginal product s ratio of .

() Input-Output (2) Qutput-Input (3) Cost-Income  {3) Price-Inceme

Mendel did not work on which of the following ?
(i) Plant height in pea (2) Seed colour in pea

(»1 Pod number a1 pea (#) Pod size in pea
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11, Fora given dynamic econometric model, the long run impact of a unit change in
X, can be known by ;

(1) Summing all the regression coefficients
(2) The canstant

(3) Sum of constant and partial derivatives
(4) Any one regression coefficient

12, Probit and Logit models are estimated using :

(1) MLE (2) OLS (3) GLS (4) WLS

13. Which of the following comes under multivariate analysis ?
(1) Tobit analysis
(2) Discriminant analysis
(3) Maximum likelihood estimate

(4} Weighted Least Squares

14, Incremental capital output ratio is equal to :

(1) 1/AY (2) Al/K (3) K/Y (4) AK/Y

15. Quasi rent is opportunity cost of a
{1) Fixed factor of production

(2) Variable factor of production
3

)
(3) Semi-fixed factor of production
(#) Semi-variable factor of production
16.  According to quantity theory of money :
(1) PT=MV + M'V' (2) P=MV/PT

(3) T=MV + MV 4 M=Tv

17, Multipiier can be eXpresses as
(1) 1/MPC (2) 1 /(MPS+MPC)
(3) 1/MPS {4) MPC + MPS
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The theory of revealed preference was given by

(1} Alfred Marshall

(3 Adam Smith

(

2y Leon Walrus

(4) Paul Samuelson

When marginal product is zero, the total product is -

(1} Minimum

{3} Zero

(

2) Maximum

(4) Equal to average product

Flasticity of production in the second stage of production is :

(1} Less than one

(3} Negative

(

2y Greater than one

(4) Equal to two

When average variable cost is minimurm, it is equal to :

(1) Average fixed cost

(3} Marginal cost

{2) Average cost

(4) Total cost

The line passing through the least cost points on isoquant map 15 called .

Ridge line

{3 Expansion path

(2% Price line

{4} Income line

The appropriate sampling method for a heterogeneous population s

(1) Simple randem sampling

(3 Cluster sampling

{2) Random sampling

{

(4) Stratified sampling
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26. Identification of an econometric model means identification of :
(1) Each equation of the model (2) Few equation of the model
(3) First equation of the model (4) lLast equation of the model
27. A good estimator should have:
(1) High variance {2) Unbiasedness
(3) Maximum mean squares error {4) All the above
28. The optimal solution of dual problem is also obtained in the ... iteration of
the solution of its primal
(1) First (2) Second
(3) Third (4) lLast
29. The variable included in a constraint to convert the greater or equal to condition
into equal to is called :
(1) Arlificial variable (2) Slack variable
(3) Surplus variable (4) None of the above
30. The solution which satisfies all the constraints is called :
(1) Optimal {2) Feasible
(3} Unbounded {4) No solution
31. Suppeort prices of agricultural commodities are recommended by
(1) NAFED {2) ICAR {3) SAU (4) CACP
32, When marked surplus is greater than marketable surplus then the siluation is
known as
(1) Market efficlency (2} Markel integration
(3) Distress sale (4) Duopoly market
33. Which one of the following is probabilistic is nature ?
(1) PERT (2) CPM (3) LP L) BLP
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38.

39.

40.
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NABARID was established in the year

(1) 1993 (2) 1982

{3) 1965 (4) 1957

Prime Mimister Crop Insurance Scheme came into existence in ;
() 2016 (2) 200

(3) 1995 (4) 1985

Central cooperative banks normally operate at :
(1) Village level (2) District level

(3) State level (4) Country level

In which year a large number of commercial banks were nationalized ?
(1) 1968 {2) 1964

(3) 1979 (4) 1982

'rice determination under bilateral monopoly takes place through :

(1} Intersection of MRP and MC

(2} Intersection of MRP and ME

{3) Intersection of MVI? and ME

(4) Negotiation

Returns fo scale can be known by summing of :

(1} Elasticities (2) Coefficients

'3 Price ratio (4, Marginal products

Reiative income hypothesis was given by
iy Ande and Modigliani (2) Duesenberry

1%y Adam Smith (4) J. M. Keynes



Attempt any five questions, Write answer in 150-200 words. Each question carries

16 marks. Answer each question on separate page, after writing Question Number.

1. Whatis the problem of identification in econometrics ?

2. Discuss stratified random sampling,

3. Enumerate the assumptions of linear programming.

4. [lustrate Internal Rate of Return

5. What do you mean by market integration ?

6. Discuss ‘Surplus Vale' as propounded by Karl Marx.

7. Differentiate between embodied and disembodied technical change.

8. What is inflationary gap 7

8. Discuss reasons for non-repayment of Agricultural loans.

10.  Explain the law of equimarginal returns.
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